1 - ARt AR EE-pRteRER |

W SFPEHS BEL - A K& B
FEXEFSHK smER | mERy /
E1HOD A | 5| 100

[BEBNEFENTN] (@ %100, 241245

1| wostszer.

(3) (= 322" X (— x*y*)® X (— 2x?)?

(4) A= P’ x (4p’g*)?

2| kotstr Rpe L.
(1) (x+4y—3)(x—3y+7)

(2) (a—b)

(3) (@a+b+c)

(4) (@a—b)a®+ab+b?)

(5) (x—y+2)



2 fEE-HRREAER BE-pRteTER 2

W EEFEEA RS HEIL - A K& 1B
FEXEFSHK sEE | mERY /
E£18BO A H % 100

(B EE (1)] @410

1] komtzpmssme k.
(1) 3xy—9v°

(2) 2x(x—2y)—yQy—x)

(3) ax+by+ay+bx

(4) 3x°—48x

(5) 9x°—24x+16

(6) (@a—b)x*+20b—a)x(y—2)—(b—a)y—2)

(7) *+U@y+Dx+By—Dy+2)

(8) 2x*—2(y+Dx—2Q2y—3)(y—4)

(9) 2x*—13xy + 159

(10 6x*+19x — 20



3 imE-pRteAEn - HEX TSR 3

W EEFEEA RS HEIL - A K& 1B
FEXEFSHK sEE | mERY /
%2?%@ B B 495 ]00

[EEDEE (2)] @10)~() £154, (5X6) £20.45)

1] komtzpmssme k.
(1) 27a° — 8b°

(2) 162°—2(y —2)°

(3) (x*+8x+7)(x®+8x+15)+15

(4) (®+2x+3)(2*—2x+3)—102?

(5) 3a®—8y*—2xy +2yz — 2%

(6) —42°+4xPy — y2* — 22%c + 12227



4 (- HRRERER BE-pRRETER 4

W EEFEEA RS HEIL - A K& 1B
FEXEFSHK sEE | mERY /
%2?%@ B B 495 ]00

(BRI, AR (1)1 (%108, 2 %2000

1] kommigesncze.
(1) 0.0216

(2) 1.236

2| koitirelk.

(”3ﬁ§_%&§+m@+%¢ﬁ
) (V18 — V12 )(V24 +448)
(3) 3432 +275 X6

(4) (V162 +v12 —+'98 )(/108 — /27 — 18 )



5 img—pRets RS - HEXETER 5

W EEFEEA RS HEIL - A K& 1B
FEXEFSHK sEE | mERY /
%3?%@ B B 495 ]00

[FAIR (2)] @ %204, 24050

1] komzmmcer. 72720, @), 6) RSB AEtssc .

(1) (V5 +v3 =2 )(V5 —V3 +V2)

343 — 247 +3\€§+2ﬁ
343 4247 343 —247

(2)

S| wmE 2433 ORISR o, MUHSE D LT DL X, a+ﬁ FEHEE L.




6 fEE-HRERREAER BEE-FRAETER 6

W SFPEHS BEI - A K& B
HEAEFFR (==

5 | e /
%38 S % | 100

[REX] (0 %200, 21204, [3]2054)

1| wosmvrsstsms.

—7=2-3x

(1)
4(1—-2x)<3(x+5)

09x—2=14x—1
04(x—3)<19—-0.3x

5 1 1
—rx———=Z_xc+
) 636‘ 9 336 1

4x—3(3x+1)<6(5x—3)

2| %5 1500 m BERZBRE T D1, 13 LoSME 40 m T X, a5 4 60 m 1
HEZ FIFTHhRWz, BELTH2S 26 50 E 30 0 PINIZERIZHE < 7290121%, 4903 40 m
T m YL EAT m LR IFIE X v,

3 20 %D EIGKAH 1000 g HAH. THICEEZINZ T 25 %L L 30 %LL T OEEKZ/ED
72w, G g DLEA g DUF AT X v,




7 - HRREAER EE-pRteTER 7

W EEFEEA RS HEIL - A K& 1B
FEXEFSHK sEE | mERY /
L4ED A H % 100

[ & $EXHE] (500, 2] 42580

1| xorstzms.
1<|3x—2|=5

2| ko s E R,

(1) Bx+ﬂz—2x—§—

(2) |Jx+1/=]2x—1]



8 fEE-HREREAER EE-rRteTER 8

W EEFEEA RS HEIL - A K& 1B
FEXEFSHK sEE | mERY /
E4EO A H % 100

[2xAER (1)1 @ %2080

1| o2 ximstrms.
(1) 2®+7x+4=0

(2) 4x°—5x—6=0
(3) 3x2+4x—1=0
(4) 222 —2J5x—1=0

(5) 5x%—3J2x—2=0



9 imE—pRts RS - HEX TSR 9

W EEFEEA RS HEIL - A K& 1B
FEXEFSHK sEE | mERY /
EASEAQ) A H % 100

[2xAER (2)] %201, 24200

1] ko2 wrmtosmmomis ko k.
(1) 22°—5x+3=0

(2) 3x*—2x—5=0

(3) 3x*+x+6=0

2| komveicssx.
(1) 2xkIGTRERX20°+5x+Ek+1=0DEERZ2 I OL ) ICER L OMEOHPEZ KD K.

(2) 22OV TD 2 oD HER
P+2x+kE=0 22—6x+2k=0
PIEOERHEZ oL X, Bk L ZOELHEZRD K.



10 BE-HSELEAFR BE-HREANEAFR 10

WS SE RN BT - A K& o
HERXEAFRSFH =B FREES /
£550 B H %1100
[2xFFEX (3)] %25, 212504, [B258)
1] ko2 st m.
(1) x*—4|x|—32=0
(2) x®—8lx|—20=0
2| WAt 15 m, BiA 24 m OEFEO I, HORO LS -2Ame

12, MEE B LR 2 20 T, ) 2 EHIC L. ,
EHOHERAS 252 m? 1242 X9 12F5100E, EHOEEM 15,
m 23U vk k. "

3 2WTOBREBDH B, +OMNOHTEE —DMNOBFOMIT 11 T, TOmMEO¥TEE AN
BRZTTELRED OB LD, 478 THLH. TDLE, bLOoMERD L.




11 BE-GRELEAFR

N iREEEEES N

181580

e
(2) ﬁxﬂiyﬂs
(3) — 362%y"
(4) 64p% ¢
2] ()5 =2"+{4y—3)—By—Dix
—(4y—3)By—17)
=’ + (y + dx — (124> — 37y + 21)
=2+ xy— 1202+ 4+ 37y — 21
(2) 5K =@’ — 3a°b + 3ab® — V°
(3) 5 =a?+ b*+ * + 2ab + 2bc + 2ca
(4) 5 =d’ b’
(5) 5 =a®— y* + 22 — 3%y + 3wy® + 3’2
—3yz*+32% + 3z2° — 6xyz
-y +2PL LTEMARZ V5]

0 (1) 5K =3y(x—3y)
(2) 5K =2x(x — 2y) + y(x — 2y)
=@ —2yCx+y)

=(@—biz—(y—2))
=(a—b)x—y+2)}

(1) 5X={x+ @y —DHr+(y +2)}
=(x+3y—Dx+y+2)

(8) G =2{x*— (y + D — 2y — 3)(y — )}
=2x—2y+3)x+y—4)

9) 53 = (x — 5y)(2x — 3y)

10) 5:3 = (x + 4)(6x — 5)

138280
R L
(2) 5K =2{@2x)’-Y} (F¥=y—2)
=22x —Y)(dx?+ 22Y +Y?)
=22z —y + 2)(dx’ + y* + 22 + 2xy
—2yz —2zx)
B)5EX=X+7DX+15)+15 (X=1x"+8x)
=X2+22X+120
=(X+12)(X+10)

BE-HREAEAFA 11

= (2% + 8x +12)(x* + 8x + 10)
=(x+2)(x+6)(x?+ 8z +10)

(4) 53 = (X + )(X — 2x) — 102?

(X=22+3)
=X'—xX—122"
=(X—4x)(X+3x)
= —4x+3)(x*+3x+3)
=(x—1(x—3)(x*+3x+3)

(5) 5.3 = (Bx? — 22y — 8yH) — (x — 2y)z
=(x—2y)Bxr+4y) — (x—2y)z
=(x—2y)Bxr+4y—2)

(6) 53X =Qx +2)2x — 2)y

—22(22% + zx — 62%)
=Qx+2)(2x—2)y
—22(22 —3x)(z2 + 2x)
=Qx+2)(2x—2)y
+22(8x —22)(2x + 2)
=(2x + 2)(2xy — yz + 620 — 42°)

1 552580

68
(2)5
2 (1)5R=9v2 =42 +10V2 ++2
=192
(2) 5% =(3V2 —2V3 )(2V6 +4V3)
=612 +124/6 —4/18 —24
=124/3 +124/6 —1242 —24
(3) 5k =122 +104/3 X6
_ 12
5
(4) 52X =(9v2 +243 —742 )(643 —343 —342)
=(2v2 +243)(3v3 —3+2)
=2(3 +42)-3(V3 —+2)

=6
BESBD e,
M W 5k={5+(v3 -2 )}{v5 -(V3 -2 )}

:5—(w’/——«/?)2

=26



12 BE-GRELEAFR

2+43 +47
(2+V3 =7 )(2+V3 +V7)
243 ++7
43
243 +3++21
12

(3) 5K =

] 343 =427 X95<3J3 <6
7<2+343 <8
SoTa="7
b=(2+3+v3 )—-7=33 -5
1 1 \3
a-+ b+577 7+

+ e
343 9

I 3@

mTam#BL &ETHE,
x 1500 — x

26 <—— > <30
40 60

IhzEfde
120 = x =600
£ 5T, 120 m Bk 600 m BUF #1471 L,
2] afizxg AhdLyaL,

25
Fa)X <
(1000 + 2) X~ - = 200

30
=< +x)X——
+2x =(1000+x) 100

200 1000
ShEM L S =v=""—

roc, epp @g BUF AU

3
QAN

1 554580

(Dx<%@k§

1<—3x+2§5<:>—1§x<% (€:))

(ii)%ém@k%

1<3x72§5(:>1<x§% (#)

BE-HREAEAFA 12

7

<x =<
1x_3

(). (D) X b —1§x<%,
X 2
2 r<—5 oLra

—3x—2= —2x—i<:>x :—% (A3)

3
.. 2
(11)—§§x0)<‘: &
3x+2:—2x—%<:>x:—% ()

(1), Gi) &b x:—%
@) (Dx<—10& %
—x—1=—2x+1l<=2=2 (fi#)

(ii)*1§x<% DEx
rx+l=—2x+1<=2=0 (&)
(iii)%éw Drx

x+1=2x—1<=2=2 (&)
XoT x=0, 2

1 55450

0] (1)(—5)°—4-2:3=25—24=1>0
XoT, 218
(2) (—2)—4:3(—=5)=4+60=64>0
Xo7T, 28
(3)1°—4-36=1—72=—71<0
o7, ML,



13 BE-HSELEAFR

2] (1)5% —4-2-(k+1)=0
25—8k—8=0
—8k=—17
17
=g
@ LELRWME T 5.
a’+2a+k=0
—a?—6a+2k=0
8a—k=0
k=8«
a?+10a=0
a(a+10)=0
a=0, —10
a=0—%k=0
a=—10—-k=-80

0] Mxz0m& &
¥ —4x—32=0
(x—8)(x+4)=0
xr=8, —4 S.ox=8
r<0DE X
P +4xr—32=0
(x+8)(x—4)=0

r=-—8, 4 .o x=—8

LoT, x=+8
2)xz0n L &
2*—8x—20=0
(x—10)(x+2)=0
=10, —2 —2x=10
r<0DE X
22+8x—20=0
(x+10)(x—2)=0
r=—10, 2 —x=—-10
£oT, x=+10
2] EHOWEEZxmETEE
(15 —x)(24 —x) =252
x* — 392 + 360 = 252
22 —39x+108=0
(x—3)(x—36)=0
x=3, 36 (x<15)
$o7TC, 3m

—DOMOFIE A1 —x)

{102 + (11 — 2)}H10(11 — x) + a2} = 3478

FLDOOBDOTOMNOEE x & T 5L,

RE-HREXNEAEFNL

(92 +11)(110 — 9x) = 3478
INEHC L, x=4,7
roT, bloiddr, 74

13



